Maths Activity 4 - Statistics Challenge

Plants

Age 5 to 11

Uncle Raj has three children. Next year, when they've had their birthdays, Naomi
will be 5, Alex will be 6 and Chris will be 7. The family has decided on something
rather unusual for part of their presents.

All three children have their birthday in the late spring and since they are keen
on gardening they are going to buy some plants for the garden, one for each

vear they have been alive.

Here is the plan of their house and garden:

You notice that there are three circular paths that cross over each other. Each
child is to have a circle but there will be some bits that are shared, around the
middle.

When the time comes, the four of them go off to the garden centre to choose the
plants. They do not have a lot of money so they're looking for special offers.
They find a very special offer which gives a good discount if you buy ten plants
altogether. The three children say that that is no good because they need more
than ten. But Uncle Raj realises they can manage with only ten.



They go to the cafe and have some cool drinks, and Uncle Raj draws a plan of
the three paths and puts little marks to show the plants.

The children are fascinated to see that Naomi has 1 and shares 4, Alex has 2
and shares 4 and Chris has 3 and shares 4. They think that's rather cool and it

saves them a lot of money. So they finish their drinks and off they go to buy
their ten plants.

Well now it's your turn to have a go and find some different solutions.
REMEMBER:- You must use exactly ten plants (no more, no less)
REMEMBER:- The circles must contain 5, 6 and 7 plants (no more, no less).



